A @ y @|c » (@)l Manual de Instrugdes/Instruction Manual/Manual de Instrucciones

@ 8,0 mm |[1/4" x 40 mm|| M4 x 16 mm
c ®@|c @||D @

S| E | D

M6 x 20 mm||M8 x 25 mm||6x12x6 mm

R
R

Co/000/000]006]000]00

|

Nivelar

~

[00/000/000]000]000]00
Do/ooo/ooo/oos/ooc/gog,
Go/ooo/ooo/ooo/ooc/aog,
D0/000/000]000]000]00,
bo/ooo/ogo/ooo/oos]oog,

E F ®lle @ I@ =
T
5x10x1 mm||Nylon M5x40 mm -
W @ ATENGAOIWARNING/ P2 (o] ()
H Q|1 @ 0 . ATENCION veflFl el FE o
- = =N - Rosquear até ultrapassar t {
M5 EE B\E o anel de nylon. ' EF FI||IF F E G
q h
53 ., Gux Screw until it overcomes \/ ¥w
P1__®IP2 @ P3 @] =57 I the nylon ring. mylon |3 ™
Sy B DI i
a8 Para atornillar hasta
39 exceder el anillo de nylon.

PARA TV VESA 75 / 100 / ATE 200 X 200 /
FOR TV VESA 75/ 100/ UP TO 200 X 200 / PARA TV VESA 75/ 100 / HASTA 200 X 200

Utilize uma das 3 opgdes oferecida
(C), conforme a furagdo da sua TV.

Use one of the 3 available options
((\:/), according to the holes on your
set.

Utilice una de las 3 opciones (C),
ofrecidas conforme la perforacion
desuTV.

o/oooloooloooloooioog,




	Página 1

